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General Aptitude

A 59 UGS HRI—2015

Find the next term in the following series.
2.9, 78, 68, 128.......

(A) 215
(B) 219
(C) 217
(D) None of the above

Answer - C

One evening before sunset two friends
Sonal and Raju were talking each other
face to face. If Raju’s shadow was exactly
to his right. Which direction was Sonal
facing ?

(A) North

A man walks 5 meters straight and then
10 meters to the right. After this he
continuously turns left and every time
walks 10, 5 and 10 meters respectively.
How far is he now from his starting
point ?

(A) 10 meters
(B) 542 meters
(C) 5.3 meters

(D) 3.5 meters

Answer - B
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2,9, 28, 65, 12......
(A) 215
(B) 219
(CQ) 217
(D) W H = T

Answer - C
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4.

[ am facing north. I turn 90° in the
clockwise direction and then 135° in the
same direction and then 270° anti

clockwise. Which direction am I facing

now ?

(A) South - West
(B) South

(C) West

(D) North - West

Answer - D

Consider the following chart :

Number of girlsin a
school B

0000000
ooooooo

lllllll
0000000

oooooooooooo

Number of Boysina s

school A leo e

What part of seats are vacant in the

school ?

(A) ‘ part
8

(B) 2 part
8

(€) gpart

(D) None of the above

Answer - B
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6.

7.

Manisha is at 27t rank from top in a merit
list of 43 students. What is her rank from

the other side ?

(A) 10t

(B) 15t

(C) 1rth

(D) 16th

Answer - C

Find the term in place of 7",

12

80

(A) 241

(B) 210

(C) 425

(D) 184

8 16

207

Answer -D

725
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(A) 104
(B) 154
(C) 1774
(D) 167

Answer - C
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(C) 425

(D) 184 Answer-D



Akash, Brajesh and Charu go for a dinner.
Each orders either Paneer Tikka or
Roasted chicken. |

(a) If Akash orders Paneer Tikka then
Brajesh orders what Charu had
ordered.

(b)  If Brajesh orders Paneer Tikka then
Akash orders the dish that Charu
doesn’t order.

(c) If Charu orders Roasted chicken
then Akash orders the dish that
Brajesh ordered.

Who among the three always orders the
same dish ?

(A) Akash

(B) Brajesh

(C) Charu

(D) None of these

Answer - A

In a birthday party of a baby boy Pratik,
40 persons kissed him and 25 persons
shake hand with Pratik. 10 persons kissed
as well as Shake hand with him. How
many persons are there in a party ?

(A) 25

(B) 55

(C) 75
(D) 35 Answer —B
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10.

11.

The reflex angle between the hands of the
clock at 10 : 25 is :

(A) 180°
10

197 —

® 1975

3°
195—
©) 195

(D) 190°
Answer - B

Which of the following graph shows
relationship between the pressure and

volume of a gas ?

v
1h
Volume
(A)
Pressure P
Volume
(B)
Pressure
¥
Volume
©)
Pressure P

Answer - B

(D) Data Insufficient
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(D) 190°

Answer - B
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12.

13.

If a+bmeansa-b
a—b means axb
aXb means a+b
a+b means a+b

Which of the following statement gives
value 8 ?

(A) 142-6%3%38
(B) 1—-2+bx3%8
(C) 1-2x6+3x8
(D) None of these

Answer - B

Fill in the blank space in the following
table :

7 | 11 23
8 7 | 18
111 5 8 |24 9
B>t 8 7 110
(A) 22
(B) 23
(C) 24
Answer - D

(D) 25

12.

13.

e a+bF HATS 2 a-b
a—b 1 Aq@e €axb
axb & Aaed Ta<b
a+b & Hqes §a+b

A frefofed o 9 fog o7 %1 99 8 8 ?

(A) 1+2-6x3+8
(B) 1-2+6x3+8

(C) 1-2x6+3x8

(D) T d 7 T

Answer - B
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(A) 22
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(C) 24

(D) 25 Answer -D



14,

15.

Read the following two statements and
two conclusions and decide which of the
conclusions logically follow the given
statements :  Apnswer—=D

Al gooa athletes win.

All good athletes eat

Statements :

well.
Conclusions I: All those who eat well
are good athletes.
II : All those who win eat
well
(A) Only conclusion I follow.
(B)  Only conclusion II follow.
(C) Both conclusions I and II follow.
(D) Neither conclusion I nor II follows.

If square stands for hard working, circle
stands for employed, the triangle stands
for rural and rectangle stands for
intelligent. Study the following figure and
answer the following questions :

AN

12

10

Rural hard working people who are
neither employed nor intelligent are
indicated by region :
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16.

17.

18.

If  a+bmeans ais daughter of b
a—b means a is husband of b
aXb means a is brother of b

What does the relation pxq—1 show ?

(A) pis son-in-law of r

(B) pis brother of r

(C) riswifeofp

(D) None of these

Answer —D

If South-East becomes North. Then in the

same way what will West become ?

(A) South-West

(B) East

(C) North-West

(D) South-East

Answer -D

Pointing to a photograph, Vandana says,
“She is the elder daughter of my mother’s
husband”. How is person in photograph
is related to Vandana ?

(A) Sister

(B) Mother

(C) Sister in law

(

D) None of these Answer—A
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19.

20.

21.

22.

Which of
different fi

(A) 41
(B) 61
(€) 85
(D) 115

i + mbans

X n

+ mW

=30
8=-2+104H
(A) 12
(B) 14
(C) 16
(D) 18

What is tt
sequence ?

1, 5,14, 30,
(A} 91
(B} 92
(€} 93
(D) Nond
Which regi

and unemy;
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o
-
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he! fo[lowing number is
om others ?

Answer - D

-
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2X6i= 2
Answer -D
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23.

24.

25.

Find the missing term :
SARODT, 2 TVl
(A) 18G12

(B) 20G13

(C) 18GI3

(D) None of the above Answer—C

Find the wrong term in the following
sequence :

2,4, 84,816, 6,12, 26, 8,16, 32
(A) 16
(B) 26
(€) 32

(D) None of the above Answer—B

How many among the following is neither
educated nor player but is male and
shopkeeper ?

Shopkeeper':sr/q n
3 7+—Players
10
12A16/.13
——Male
9 /11 8

/ 5 X—Educated

23.
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25.
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26.

27.

28.

Which nl of the following four logical

diagrams r plesents correctly the

relations lp between Tenis players,

Cricket pl yers, Students ?

@)

(4)
Answer -
If CAT;

GE 3

DQOG =27
Then AWE= | ?
(A} 28

)
D) None of the above Answer - C

Count thel number of cubes in the

following figure :
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29.

30.

Find the missing term in the following

diagram :
5 6 8 5
3 5 G 10
2 11 13 13
16 18 19

(A) 3

(B) 4

Q) 6

What is the number opposite to 5 in the
dice position given below ?

(
(D) None of the above Answer —B

6 6
3 27| 2 6
(A) 1
(B) 2
(€ 3
(D) 6 Answer —B
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31.

32.
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Answer -D

w| many triangles are there in the

/[
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Answer —C

31.

32.

EfcliEg ¥ 99 3 = =7 999 =4

(B) GK
() MO

ﬂ?*] 5X Answer -D

ﬁ’:{ﬁﬁﬁﬁ%ﬁﬂﬁ[iw:

I\,

B 17

(C) 19

EDJ 2 Answer - C
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33 The product of two numbers is 97461 33 91q 41 o] 1 RWH 97461 T 71 T

and their greatest common divisor is YA TSR 2 A WERY T
21 then thelr least common multiple is 21%,
(A) 4461 (A) 4461
(B) 4641 B) 4641
(C) 4861 (C) 4861
() None of above (D) 39 ¥ & s 7
Answer - B Answer — B

3. Acartravels a distance d on a straight . GG agEwd g o i w
road intwo hours and then retums to el & o R forg W e 3 A

the starting point in next three hours.
' 9P _ TI9H 31 S 2 | JeT S I 2
Its average speed is

: d
(A) 5 (A) 5
: g
B) & (B) 5
2d 2d
€% | (€) 7
5d d

(D) T Answer —C (D) "'é" Answer - C




ab
35. [fd=ged (a, b), then ged (‘a ‘d') =

36.

37.

(A) 1
(B) b
() 2
(D) d

Answer - A

A person purchase a scooter at certain
cost, After two years he sells it at 20%

loss. If he had sold it for ¥ 4,000 more

he would have got 20% profit. What
was the purchase of scooter 7

(A) 10,000%
(B) 20,000%

(C) 8,000%

(D) None of above Answer-A

The value of

(1.6)% x(2.7))4
10/h

(A) 1.2

12
(B) J_d

©)
10)/

(D) None of above Answer-—A

36.

37.

. Ak d=ged (a, b), 7 ged {% ZJ

(A) 1
(B) b
() 2
(D) d Answer — A
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N & | 9 9 9% 8 W 20% 7R A
oI 3 | AR ?4,-0001‘#&??113‘(3&

20% T B, et 1 37 YeA 1 o |

(A) 10,0003
(B) 20,000%
(C) 8,000% A
(D) TR H R Answer-a

freferfiaa ot 7= I &
. (1 .s)z X (2.7))4
b

(A) 1.2

12

(B) 7;5

(C)
107
( mﬁ @aﬂgqﬁ An;swer—A




3. Which of the following is least ratios ? 3. Terferfo o W Bt or 2 ?
|
2ot 37 6 47 20 37 6T 47
AT LT 7'3’213?'('1'3
A §§ A £
M3 A=
37 37
(B) 3 (B) *é"
\
87 67
©) % ©
' 47 nswer — 47
)‘ '1"‘5' Answer —D (D) E‘; Answer - D
9. Complete the following series: 30, Fyerfrfag stoh ‘i"f %3 -
BZ,HT,NN,?,ZB . BZ, HT, NN, 2, ZB
(A) LF (A) LF
(B) SX (B) SX
(C) TH (C) TH
(D) 'n Answer - C (D) Ti Answer - C
‘. Chaose the correct alternative to 0. e Aofi it qoi e v 3fre by
complete the following series T
abca _ beaab _ca _bbe _ abca _ bcaab _ca _ bbe _
(A) ccaa | (A) ccaa
(B) abac (B) abac
(C) bbaa (C) bbaa
(D) abba Answer —B (D) ki Answer — B



| o |
“ Select the alternative box which can . 92 SR T I E0 W e A H

be formed by folding the sheet ‘A' it S
E E
AlBIC|D AlBIGLD
F F

&

(D) None of above Answer-D (D) I H A FE ] Answer—D




42. Ra{n borrows a certain sum of

43.

money from a bank at 10% per
annum at compound interest. The
entire debt is discharged in full by
Ram on payment of two equal
amounts of 2 1,000 each, one at the
end of the first year and the other at
the end of the second year. What is
the approximate value of the amount
borrowed by him ?

(A) % 1,85

(B) ¥1,736

(C) 1,694

(D) 31,792  Answer-B

In a,school there is ratios of 4 : 3
between boys and girls. If the number
of girls is in increased by 10% their
number is 363, What is the total
number students in school now ?

(A) 753
(B) 803
(C) 770

(D) None of above  Answer-c

42.

43.

W T o 10% aieh aeng s a1
& 3 T 3TN R | 79 R 3R A
¥1,0009 3 forvat ¥ w2 | o fova
el @ & o g g frm @ ad
mﬁlaﬁmmmmﬁuﬁmw
g ?

(A) T1,852
(B) $1,736
(C) T 1,694
(D) ¥1,792 Answer-B

e et e 7o et 1 e
4 : 3%\ e et <t w@ 10% T&
¥ 361 W 363 8l 2, o W A g
formidat < v o fareef 7

(A) 753
(B) 803
(C) 770
(D) 390 A & F% T&l Answer - C



44,

45.

46.

What is the average of first thirty
natural numbers ?

(A) 205
(B) 15.5
() 7.75

(D) None of above Answer —B

A bottle is full of dettol. One fourth of
the dettol is taken out and water is
added this process is repeated thrice.
What is the ratio of dettol and water

after third time ?
(A) 2836
(B) 25139
(C) 15 49

(D) None of above Answer-D

What will be next number in the
following sequence ?

2,10,30,68, ...

(A) 130

(B) 115

(C) 125

(D) None of above ~ Answer—A

44, Wﬁgmmﬁ-ﬂmmm?

(A) 20.5

(B) 15.5 1

(C) 7.75 |

(D) mﬁﬁﬁ'gqﬁ Answer — B

|
45, @mﬁmw'%lm @?ﬁ?ﬂé

e 50 O o 21 4R R e
e o Qe S e o % e A

2T T TR 1 R P

(A) 28:36
(B) 25:39
(C) 15:49
(D) 3T A WHE T Answer D

a7, FrHforin s  Sren T A ¢
2,10, 30,68, ...
(A) 130
(B) 115
() 125
(D)mﬁ@gq—gf Answer — A



47.

48.

Find!the next term in the following
sequence.

9A, 11B, 15C, 23D, ...

(A) 35E

(B) 37E

(C) 39E

(D) None of above Answer—¢

What will be the next figure in the
following sequence ?

l

(B)

(©) |
Bl X

(D) None of the above Answer-B

7. fqforfiad orgn B ST V6 A K |

© 9A,11B,16C, 23D, ..,
(A) 35E

(B) 37E

(C) 38E

(D) m ﬁ ?ﬁg q-{-ﬁ Answer —C

. ffaed orgn § e fo o e ¢

X
: 01|0
X
0
X
(A)
0
(B)
0 X
©)
0. .X

(D) mﬁﬁ#qﬁ Answer — B



49.

50.

51.

It ‘a’ means +, ‘b’ means -, ‘¢’ means
x and ‘d’ means + then the value of

Be7)c(7a5)b(6d3)d(3b2)
(A) 650

(B) 375

(C) 670

(D) None of the above Answer-c

What number will come in the blank
space in the following diagram ?

3

57|34
21819145

112|814

& | 3|2 |2

(A)
(B)
()

)

(D) None of above

21

—

9
7

<
el

Answer —C

What will be next term in the
following sequence
H,S,F,UD,?

(A) W
(B) Y
() 0

(D) None of above

Answer - A

49.

50.

51.

e ‘3" 1 e +, ‘b’ F HdeE —, ‘¢’
TaE x R d H A ¢ f
(8c7)c(7ab)b(6d3)d(8b2)
(A) 650

(B) 375

(C) 670 ol

(D) Wﬂﬁaﬁﬁaﬁ:ra"f Answer - C
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27
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34 |

3
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u\‘

28[940

112)3 |14
518(|2]|7

(A) 21
(B) 19

C) 17 ‘
D) T A FE T Answer—C

S s sy o
HS,FUD,? |

(A) W
B) Y
(€) 0
(D) IW 8§ @ g A Answer—A



